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P .E .PsE.fil.!12
"-41.( asPor od2a)

.

atlyrd (p<olsq).

f : lRs /R
.

IH
. onto

..

2
"
-4④ 1

! 치역의국정치여계R
.

P0. Yp=.
…

…∴.… 일대일
ε

23.

q>3
.
3814< y<29-44

...

q=3 .

atlya3=3 .f() 3 -1 .2.



19
. 8
.

"

/f(t) +tldt.olf(al)- o (s. 8 .
4

fitidt.
. .

f 정분은 좀
.

약O
. ..

미분
.

f(ol) +olβ. f(lfo(f:1)- 301:fll=401. 오 ..

:
∴f
.

4
= 32

.

26*
.
D
. BC를 3: 1로 내분AD=R.AB:AC:2:1 . oal -.. .

A

2k . k
.

B 회 One. c

k
S. lsmdB ×*P

π

- * A( βπ
.

…
. K 구하가X

2.-39249*1 9l:4k3+2=3l
.

2-
d*봉 (=k42=l4 % 4

il-6=ll
.

l =2
.

k(l÷l+2)= * 4. 7 +64=7↓
! 안 구하고 지만구하는진 . .. 되나 ?



241 .AQaElN .Any : ?
en (an 23)

.

a6= 2..10 (an<3)
.

a4<3
. a *10 . ao = 2

.

.b
,

=
1O.64:50
.

4 .
1.as<9

.
a4*

9423. layp4 = .
U4=4.

all ..94:40. or A4 <3 .

i) a4 : 40 ; az= 120. U×=240 . a. =240 .
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